CalLite 2.0 Hands-On Training July 18, 2012

Objectives:
A. Run Scenario 1: Base Study, which has D-1641 regulations.
B. Analyze CalLite results from Scenario 1.
C. Run Scenario 2: Alternative Study, which has two BO RPAs turned on.
D. Investigate the impact of the two RPAs on project operations, river/Delta flows, and salinity

Directions:

A. Run Scenario 1: Base Study, which has D-1641 regulations.

Scenario 1 (Base Study) settings are follows:

Simulation period — (WY1922 — 2003)

Pre-Biological Opinion (D-1641 regulations only, no RPAs active)
Future Level of Development (2030 LOD)

No sea level rise

SWP SOD Demands: Full Table A

CVP SOD Demands: Full Contract

CVC wheeling, JPOD, and Intertie all on
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After setting up Scenario 1, run it by clicking the Run Scenario button.

B. Analyze Callite results from Scenario 1.

Use the CallLite Quick Results Dashboard to answer the following questions for Scenario 1:
1) Whatis the Long-Term (1922 — 2003) Average Annual SWP Total Delivery (in taf)?

2) What were the minimum monthly Total SWP Deliveries during the 1929-34 Drought (in taf)?
3) Plot the exceedence curve of X2 position during February.
4) How much Annual CVP SOD Delivery can be expected at the 50% Non-Exceedence Level

(probability of smaller than the given value) (in taf)? Here you will need to copy the data
from a Callite graph and paste it into Excel.



C. Run Scenario 2: Alternative Study, which has two BO RPAs turned on.

Scenario 2 (Alternative Study) has the same settings as Scenario 1, except that the Fall X2 and

OMR RPAs are turned on. Setup directions are as follows:
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Load Scenario 1

Turn on Fall X2 and OMR RPAs
Save As Scenario 2

Run

D. Investigate the impact of the two RPAs on project operations, river/Delta flows, and salinity

Use the CalLite Quick Results Dashboard to answer the following questions:

1)

2)

3)

4)

5)

6)

How does the average Annual CVP SOD Delivery change between the two scenarios (in taf)?

How much has the average Annual Total SWP Delivery been reduced in Scenario 2 (in taf)?

Plot the exceedence curve of Oroville’s September Storage under the two scenarios

How much has average Annual Delta Outflow been increased in Scenario 2 (in taf)?

How does X2 position change in October and November of Wet years (Sac 40-30-30 Index)

How do minimum OMR flows change on average during January and February in Dry years
(Sac 40-30-30 Index)?



